PRESENT TENSE: irregular
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YO IR

YO TENER

YO DECIR

TU TENER

USTEDES IR

USTED TENER
NOSOTROS IR

TU PREVENIR

TU MANTENER
USTEDES DECIR
USTED MANTENER
USTED CONTENER
VOSOTROS TENER
USTEDES CONTENER
VOSOTROS MANTENER
NOSOTROS MANTENER
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EVENTIS
ENARHS
TNOC I X
CRUCWM
ENEMOS
K DVAMDO
NEVHDH
Y UM I N E
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XV AENE
O XV EN I
TUIR
YQV!ENIR
TQOIR
TU VENIR
USTED VENIR
VOSOTROS IR
YOMANTEN'ER
USTEDES OIR

USTEDES VENIR
NOSOTROS OIR
VOSOTROS VENIR
VOSOTROS DECIR
NOSOTROS TENER
USTEDES MANTENER
VOSOTROS PREVENIR
NOSOTROS CONTENER
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YO OIR

USTED IR

TU DECIR

USTED OIR

USTED DECIR

YO CONTENER

YO PREVENIR

TU CONTENER
VOSOTROS OIR
USTEDES TENER
NOSOTROS VENIR
NOSOTROS DECIR
USTED PREVENIR
USTEDES PREVENIR
VOSOTROS CONTENER
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